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2| -1/2x 1.120x 2.800x  1.000 -1.568 |  0.473| 2.067 | -0.742 | ~-3.241
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[1] C D
h Vi Hi Mi Xh Mi Ni
() (m (kN) (kN) (KN.m) (m (m
0.150 0.485 1.636 0.349 -0.024 -0.014 0.081
0.300 0.485 3.271 0.750 -0.089 -0.027 0.081
0.450 0.485 4.907 1.205 -0.188 -0.038 0.081
0.600 0.485 6.543 1.711 -0.314 -0.048 0.081
0.750 0.485 8.179 2.271 -0.458 -0.056 0.081
0.900 0.485 9.814 2.882 -0.611 -0.062 0.081
1.050 0.485 11.450 3.547 -0.768 -0.067 0.081
1.200 0.485 13.086 4.264 -0.919 -0.070 0.081
1.350 0.485 14.722 5.034 -1.056 -0.072 0.081
1.500 0.485 16.357 5.856 -1.173 -0.072 0.081
1.650 0.485 17.993 6.731 -1.260 -0.070 0.081
1.800 0.485 19.629 7.658 -1.310 -0.067 0.081
1.950 0.485 21.265 8.639 -1.315 -0.062 0.081
2.100 0.485 22.900 9.671 -1.267 -0.055 0.081
2.250 0.485 24 .536 10.757 -1.159 -0.047 0.081
2.400 0.485 26.172 11.894 -0.982 -0.038 0.081
2.550 0.485 27.808 13.085 -0.729 -0.026 0.081
2.700 0.485 29.443 14.328 -0.391 -0.013 0.081
2.850 0.485 31.079 15.624 0.039 0.001 0.081
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cos’a s cos(a+68) |1+
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cos’(35.00° —-21.801° )

cos™21. 801°

+ cos(-21.801° +23.333° )

1

X

333° )

- sin(35.00° —0.000° )

sin(35.00° +23.
1+
cos(-21.801° +23.

0.1169
q K 18.402x 0.1169 2.
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8.696 kN/m’
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151 kN/m?
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p3

P1

P2
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Pv

M1

M2

P2 8.696 kN/m’

1
— + (pl+p2) - Hl = EX( 2. 151+ 8.696) X 2.800

P1 P2 15.186 0.000 15.186 kN

P cos(a &) 15.186x cos(-21.801°  23.333° )

P sin(a &)  15.186x sin(-21.801° 23.333° )

P1 « —+H2

2+pl+p2 H1
pl+p2 3

2X2.15148. 696 % 2. 800
2.15148.696 3

15. 186 X ( +0. OOO)

16.984 kN.m

2+ p2+p3 H2
P2 . £t baps - Hz
p2+p3 3

2X8.696+8.696 _ 0.000
0. 000 X X

8.696+8. 696 3
0.000 kN.m

M1+M2 16. 984+0. 000
= = 1.118 m
P1+P2 15.186+0. 000

1
— + (p2+p3) -H2 = EX( 8.696+ 8.696) X 0.000 =

15. 186 kN

0. 000 kN

15.180 kN

0.406 kN

Ho tana xp 1.118x tan-21.801°  0.242 -0.690 m

yp Ho 0.000 1.118 1.118 m
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0.406 15.180 -0.690 1.118 16.698
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